NUIGKSET ALY

140 ——
B/ 70 vy !
16,5
119 — = t
66
123 — | 1)
125 — AL
— : I~ @205
-~ 'l 316,0 H7
51 \
o N 1195
|
T
13
| SN |
| t ! |
At 69 !
12
{ 81
20 | [
*
SECTION A SECTION B
HoT—1— O}
LOCATING RING
RECESS @ 90
! |
L, L, + |

LOCATING RING
RECESS @ 4"

13 1
5
!

o

CATALOG
NUMBER

| 100

BACKING

PLATE

APPROX. NET WEIGHT

WIDLD BASES
125 SERIES

ﬁ— SHCS.
(M6 X 45)

©— capscrew

RETAINER

HOT HALF

LEADER PIN*

10 mm
11 mm

BUSHING*
10 mm I.D.
11 mm I.D.

EJECTOR HALF

EJECTOR SET

BACKING PLATE
(OPTIONAL)

CAPSCREW
RETAINER

— SHCS.
(M8 X 80)

kg

Ib.

A1251

BP1251

12

26

A1252

BP1252

14

31

A1253

BP1253

16

35

A1254

BP1254

18

40

A1255

Material:
Tensile strength:
Hardness:

HD .87- 7022 T651
490-530 N/sq mm
150 HB

BP1255

22

49

Quicksets are supplied fully machined with four leader pins, bushings, capscrew
retainers, capscrews and ejector set.
NOTE: Quicksets are supplied unassembled.

* QUICKSET mold bases do not offset a leader pin and
bushing assembly. One set of leader pins and bushings
provided with this mold kit will be 10 mm diameter or
11 mm diameter. Mating of the diameters should be
checked prior to final assembly.

ITEM CATALOG NO.

CAPSCREW RETAINER CR125

LEADER PIN - 10 mm LP125-10

LEADER PIN - 11 mm LP125-11

BUSHING - 10 mm BU125-10

BUSHING - 11 mm

BU125-11




NUIGKSET ALUIIY
oLD BASES
156 SERIES

167 —
Bi 83,5 vy |
20
146 — ] 1
75
153 —| | 1)
156 — /]
— : I @254
56 \
- Il 131 ﬁ— SHCS.
(M8 X 50)
o3 [
’J 15[ N ©— capscrew
15 RETAINER
| SN |
| t ! Y
At 91 T HOT HALF
I 102 12
20 | | LEADER PIN*
+ o
mm
SECTION A . SECTION B -
] l i 14 mm |.D.
i 15 mm |.D.
| LOCATING RING
RECESS @ 90
[ |
| I EJECTOR HALF
L, L, | — T l
EJECTOR SET
|
| LOGATING AING BACKING PLATE
RECESS g4 (OPTIONAL)
A A4 JanN
@ @ & — CAPSCREW
RETAINER
| 125 |
— SHCS.
(M8 X 90)
CATALOG BACKING APPROX. NET WEIGHT
NUMBER PLATE kg Ib. * QUICKSET mold bases do not offset a leader pin and

A1561 BP1561 16 35
A1562 BP1562 19 42
A1563 BP1563 23 51
A1564 BP1564 26 57
A1565 BP1565 29 64
A1566 BP1566 31 68

bushing assembly. One set of leader pins and bushings
provided with this mold kit will be 14 mm diameter or
15 mm diameter. Mating of the diameters should be
checked prior to final assembly.

ITEM CATALOG NO.
CAPSCREW RETAINER CR156

LEADER PIN - 14 mm LP156-14

* Quickset aluminum molds are 1/3 the density of steel molds.

* Handling is easier and freight costs can be significantly reduced.

* Machining, EDM and polishing are considerably faster.

* Using electrodes with reduced current and spark gap will result in improved surface finishes.

LEADER PIN - 15 mm LP156-15

BUSHING - 14 mm BU156-14

BUSHING - 15 mm BU156-15




NUIGKSET ALY

WoLD BASES
196 SERIES

103

194 —|
196 —

~— 20,0 H7

@25,4

155

N
o

SECITION A

[a]—1

SECTION B

LOCATING RING
RECESS @ 90

@__

LOCATING RING
RECESS @ 4"

P

©— capscrew
RETAINER

HOT HALF

LEADER PIN*
14 mm
15 mm

BUSHING*
14 mm |.D.
15 mm |.D.

EJECTOR HALF

)

160 |

|
|
-
|
2
Y
|

CATALOG
NUMBER

BACKING

APPROX. NET WEIGHT

EJECTOR SET

BACKING PLATE
(OPTIONAL)

CAPSCREW
RETAINER

— SHCS.
(M8 X 115)

PLATE

kg

Ib.

A1961

BP1961

20

44

A1962

BP1962

24

53

* QUICKSET mold bases do not offset a leader pin and
bushing assembly. One set of leader pins and bushings
provided with this mold kit will be 14 mm diameter or
15 mm diameter. Mating of the diameters should be

A1963 BP1963 28

62 checked prior to final assembly.

A1964 BP1964 32

71

A1965 BP1965 36

=9 ITEM

CATALOG NO.

A1966 BP1966 40

88 CAPSCREW RETAINER

A1967 BP1967 44

» The heat transfer characteristics of aluminum promotes faster cycle times.

* Quicksets can be ground, welded and textured.

* When reaming holes, especially small diameters in aluminum, it is advised to be oversize by +.01 mm
to +.02 mm.

97

CR196

LEADER PIN - 14 mm

LP196-14

LEADER PIN - 15 mm

LP196-15

BUSHING - 14 mm

BU196-14

BUSHING - 15 mm

BU196-15




NUIGKSET ALY

255 YR
B/ 127,5 N !
22
230 — = }
100
244 | 1 1
246 —» AL
—] : l— @31,0
— ' l— 26,0 H7
74 \
NS
169 166
' |
v
i

At 163 f
| 171 12
20 |
*
SECTION A . SECTION B
Ho—1— o}
LOCATING RING
RECESS @ 90
|
L, L, T ‘

LOCATING RING
RECESS @ 4"

v
.
1

o

©

CATALOG
NUMBER

BACKING
PLATE

APPROX. NET WEIGHT

WoLD BASES
246 SERIES

— SHCS.
(M10 X 70)

— CAPSCREW
RETAINER

HOT HALF

LEADER PIN*

18 mm
19 mm

BUSHING*
18 mm I.D.
19 mm I.D.

EJECTOR HALF

EJECTOR SET

BACKING PLATE
(OPTIONAL)

CAPSCREW
RETAINER

— SHCS.
(M10 X 115)

kg Ib.

A2461

BP2461

32 7

A2462

BP2462

40 88

A2463

BP2463

49

A2464

BP2464

57

A2465

BP2465

65

A2466

BP2466

73

A2467

BP2467

81

* When installing leader pins and bushings into the mold, it is advised that the press fit be lubricated. This
will eliminate the potential bonding of the aluminum to the steel when pressure is applied.
* CAD files are available from the Aimo web site or on CD from DMS.

* QUICKSET mold bases do not offset a leader pin and
bushing assembly. One set of leader pins and bushings
provided with this mold kit will be 18 mm diameter or
19 mm diameter. Mating of the diameters should be
checked prior to final assembly.

ITEM CATALOG NO.

CAPSCREW RETAINER

CR246

LEADER PIN - 18 mm

LP246-18

LEADER PIN - 19 mm

LP246-19

BUSHING - 18 mm

BU246-18

BUSHING - 19 mm

BU246-19




NUIGKSET ALY
LD BASES
296 SERIES

305
Bi s 213 1,
F— 100 — 235
279 f I
100
292 ‘
296 i
— : I @39,0
| - @320H7
)
|
100
1
L4 it ! 7 SHGCS.
N = (M12 X 60)
199 . J
b | & capscrew
88 1 20 [ Z RETAINER
20 | ' 1
Kl:: | NN LN HOT HALF
N ‘ NEENT 4
A ‘ 190 ‘ !
12
202 LEADER PIN*
} 23 mm
20 | | 24 mm
T BUSHING*
SECTION A SECTION B gi mm :.g.
i _L i mm |.D.
@ 0 @ EJECTOR HALF
@ I LOCATING RING
: | 220 (x4) | RECESS @ 90
16 DEEP
Lol é}\: il EJECTOR SET
" 2963, 2964
ONLY J | BACKING PLATE
@ ‘ (OPTIONAL)
CAPSCREW
LOCATING RING
@ RECESS @ 4" RETAINER
_ SHCS.
| (M12 X 130)

* QUICKSET mold bases do not offset a leader pin and
bushing assembly. One set of leader pins and bushings
provided with this mold kit will be 23 mm diameter or
24 mm diameter. Mating of the diameters should be

CATALOG BACKING | APPROX.NET WEIGHT
NUMBER PLATE kg Ib.

A2961 296 240 BP2961 72 159 checked prior to final assembly.
A2962 396 340 BP2962 102 225
A2963 | 49 = 440 BP2963 123 271 (IEM CATALOGHG

0 |ao| |

A2964 BP2964

144 318 CAPSCREW RETAINER CR296

LEADER PIN - 23 mm LP296-23
LEADER PIN - 24 mm LP296-24
BUSHING - 23 mm BU296-23
BUSHING - 24 mm BU296-24

www.almo.uk.com



	moldbase14
	moldbase15
	moldbase16
	moldbase17
	moldbase18

